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�

new
s

�

relationaloperators

�

the
i
f

branching
statem

ent

�

com
m

and
line

argum
ents

�

converting
from

S
tring

to
float,int

�

reading:
ch
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new
s.

�

the
LA

S
T

day
to

C
H

A
N

G
E

orS
IG

N
U

P
for

a
R

E
C

ITA
T

IO
N

is
this

F
riday

F
eb

8
by

6A
M

�

here’s
w

hatyou
do:

–
go

to
the

“hum
an

help”link
on

the
classw

eb
page

–
find

a
recitation

thatyou
can

attendand
getthe

TA
’s

em
ailaddress

–
if

you
are

N
E

W
and

firstsigning
up

for
a

recitation,
sendem

ailto
the

TA
and

C
C

m
e

–
if

you
are

C
H

A
N

G
IN

G
recitation,

sendem
ailto

B
O

T
H

the
old

TA
and

the
new

TA
,and

C
C

m
e
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relationaloperators.

=
=

equality
!=

inequality

�

greaterthan

�

lessthan

���

greaterthan
orequalto

���

Lessthan
orequalto

exam
ple:

i
n
t
x
,
y
;

x
=
-
5
;

y
=
7
;

som
etruths:

(
x

�

y
)

true
(
x ��

y
)

false
(
x

� �

y
)

true
(
x

���

y
)

false
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the
i
f

branchingstatem
ent(1).

thereare
fourform

s:

(1)sim
ple

if

i
f
(
x
<
0
)

{
S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
x

i
s
n
e
g
a
t
i
v
e
\
n
"

)
;

}
/
/
e
n
d
i
f

x
<
0

(2)if/else

i
f
(
x
<
0
)

{
S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
x

i
s
n
e
g
a
t
i
v
e
\
n
"

)
;

}
/
/
e
n
d
i
f

x
<
0

e
l
s
e
{

S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
x

i
s
n
o
t
n
e
g
a
t
i
v
e
\
n
"

)
;

}
/
/
e
n
d
e
l
s
e

x
>
=
0
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the
i
f

branchingstatem
ent(2).

(3)if/else
if

i
f
(
x
<
0
)

{
S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
x

i
s
n
e
g
a
t
i
v
e
\
n
"

)
;

}
/
/
e
n
d
i
f

x
<
0

e
l
s
e
i
f
(
x

>
0
)
{

S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
x

i
s
p
o
s
i
t
i
v
e
\
n
"

)
;

}
/
/
e
n
d
i
f

x
>
0

e
l
s
e
{

S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
x

i
s
z
e
r
o
\
n
"
)
;

}
/
/
e
n
d
e
l
s
e

x
=
=
0
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the
i
f

branchingstatem
ent(3).

(4)nestedif
you

can
nestany

kind/num
berofif’s

i
f
(
x
<
0
)

{
S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
x

i
s
n
e
g
a
t
i
v
e
\
n
"

)
;

}
/
/
e
n
d
i
f

x
<
0

e
l
s
e
{

i
f
(
x
>
0

)
{

S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
x

i
s
p
o
s
i
t
i
v
e
\
n
"

)
;

}
/
/
e
n
d
i
f

x
>
0

e
l
s
e
{

S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
x

i
s
z
e
r
o
\
n
"

)
;

}
/
/
e
n
d
e
l
s
e

x
=
=
0

}
/
/
e
n
d
e
l
s
e

x
>
=
0
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com
m

andline
argum

ents(1).
�

rem
em

berourm
odelofa

com
puter

program
from

the
2nd

lecture:

��
�
	
��

C
P

U

�

	
��
	
�

�

hom
ew

ork
#1

w
asan

outputonly
program

�

now
w

e
w

ill
learn

how
to

getinputinto
yourprogram

�

thereare
m

any
w

aysto
do

this...

�

w
e

w
ill

startw
ith

com
m

and
line

argum
ents,w

hich
are

a
w

ay
ofgetting

inputinto
your

program
from

the
U

N
IX

environm
entw

hen
you

startup
yourprogram

�

U
N

IX
com

m
andsuseargum

ents
(argum

ents
are

also
called

param
eters)

�

for
exam

ple,w
ith

the
com

m
and:

u
n
i
x
$

l
s
-
l

the
l
s

partis
the

com
m

and;and
the

-
l

partis
an

argum
ent(in

this
case,-

l
is

a
specialtype

ofargum
ent,also

called
a

“sw
itch”

in
U

N
IX

;
it

is
an

argum
entthatstartsw

ith
a
-

,and
usuallyis

usedto
indicate

sw
itching

on
oroff

som
efeatureofthe

com
m

and
being

run)
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com
m

andline
argum

ents(2).
�

the
“hello

w
orld”

program
takes

no
argum

ents
and

is
started

up
lik

e
this:

u
n
i
x
$

j
a
v
a
h
e
l
l
o

�

here’s
the

sourcecode:

p
u
b
l
i
c

c
l
a
s
s
h
e
l
l
o

{
p
u
b
l
i
c
s
t
a
t
i
c

v
o
i
d
m
a
i
n
(

S
t
r
i
n
g
[
]
a
r
g
s

)
{

S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
h
e
l
l
o

w
o
r
l
d
!
\
n
"

)
;

}
/
/
e
n
d
o
f
m
a
i
n
(
)

}
/
/

e
n
d
o
f
c
l
a
s
s

h
e
l
l
o
(
)
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com
m

andline
argum

ents(3).
�

the
“hello2”

program
thattakesone

argum
entand

is
startedup

lik
e

this:

u
n
i
x
$

j
a
v
a
h
e
l
l
o
2

r
i
n
g
o

�

here’s
the

sourcecode:

p
u
b
l
i
c

c
l
a
s
s
h
e
l
l
o
2

{
p
u
b
l
i
c
s
t
a
t
i
c

v
o
i
d
m
a
i
n
(

S
t
r
i
n
g
[
]
a
r
g
s

)
{

S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(

"
h
e
l
l
o

"
+
a
r
g
s
[
0
]

)
;

}
/
/
e
n
d
o
f
m
a
i
n
(
)

}
/
/

e
n
d
o
f
c
l
a
s
s

h
e
l
l
o
2
(
)

�

in
this

exam
ple,the

argum
entis

r
i
n
g
o

�

and
the

outputofthe
program

w
ould

be:

u
n
i
x
$

j
a
v
a
h
e
l
l
o
2

r
i
n
g
o

h
e
l
l
o

r
i
n
g
o
!

u
n
i
x
$
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com
m

andline
argum

ents(4).
�

the
argum

enta
r
g
s

to
the

m
a
i
n
(
)

m
ethod

is
oftype

S
t
r
i
n
g
[
]

�

w
hich

m
eans

it
is

a
listofstrings

(i.e.,Java
classS

t
r
i
n
g

)

�

w
herea

string
is

a
listofcharacters(i.e.,Java

prim
itive

datatype
c
h
a
r

)

�

S
t
r
i
n
g

is
som

ething
called

a
w

rapper
class

�

w
e’ll

talk
m

ore
aboutw

rapperclasses
nexttim

e

�

a
S
t
r
i
n
g

value
is

defined
using

double
quotes,e.g.,

S
t
r
i
n
g

x
=
"
A
B
C
"
;

orS
t
r
i
n
g

y
=
"
A
"
;

�

a
c
h
a
r

value
is

defined
using

single
quotes,e.g.,

c
h
a
r

z
=
’
A
’
;
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com
m

andline
argum

ents(5).
�

w
hen

a
java

program
is

invoked
from

the
U

N
IX

com
m

and
line,any

valuesafterthe
program

nam
eare

passed
into

the
program

,for
usew

hen
the

program
is

running.

�

the
a
r
g
s

argum
entto

m
a
i
n

givesyou
accessto

thesevalues,for
free

(i.e.,you
don’t

have
to

do
anything

specialto
getthem

),through
the

line
ofcodethatlooks

lik
e

this:
p
u
b
l
i
c

s
t
a
t
i
c
v
o
i
d

m
a
i
n
(
S
t
r
i
n
g
[
]

a
r
g
s
)

�

you
can

seehow
m

any
argum

ents
w

ere
passed

into
the

program
by

using
the

value
of

a
r
g
s
.
l
e
n
g
t
h

�

you
can

seew
hatthe

valuesofthe
argum

ents
are

by
looking

them
up

in
the

a
r
g
s

list,
using

an
index,i.e.,a

num
berw

hich
indicates

w
hich

entry
in

the
listyou

are
referring

to

�

rem
em

berthatin
com

puter
science,w

e
startcounting

w
ith

0

�

so
the

firstvalue
in

the
argum

entlistis
referencedasa

r
g
s
[
0
]

,and
so

on
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com
m

andline
argum

ents(6).
�

given
the

com
m

and
line:

u
n
i
x
$

j
a
v
a
e
x
6
0
A

1
2
D
O
G

then
a
r
g
s
.
l
e
n
g
t
h

w
ould

be
equalto

3,and
a
r
g
s

w
ould

look
lik

e
this:

a
r
g
[
0
]

"
A
"

a
r
g
[
1
]

"
1
2
"

a
r
g
[
2
]

"
D
O
G
"

�

theseare
allS

t
r
i
n
g

s!!

�

if
you

w
antto

usea
com

m
and

line
argum

entasa
num

ber,then
you

have
to

convertit,
justlik

e
w

e
converted,orcoerced,i

n
t

to
c
h
a
r

and
so

forth

�

for
today,only

w
orry

aboutthe
syntax:

to
go

from
to

usethe
follo

w
ing

S
t
r
i
n
g

s
f
l
o
a
t

f
f

=
(
F
l
o
a
t
.
v
a
l
u
e
O
f
(
s
)
)
.
f
l
o
a
t
V
a
l
u
e
(
)
;

S
t
r
i
n
g

s
i
n
t

i
i

=
(
I
n
t
e
g
e
r
.
v
a
l
u
e
O
f
(
s
)
)
.
i
n
t
V
a
l
u
e
(
)
;
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